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45211229 shbwpwpmlwb wohwnwbpbkp guypngibph bwdwp QL il i 1 *
45211229 shtiwpwpwlwh woliwwnwbpik nghtiph hww 3z wl 2 1 »
45211228 shtwpwpwhwh wohiwunwbphibp Ywhhmywpwnkbqlkph budwp qz npml 16,231,184.0 1 16,231.2
45221142 minip shbwpwpwhwh wolwwwbpibn Y i 1,695,550.0 1 1,695.6
45221142/1 pinhwimip shbhwpwpwlmb woliwwnwhphitip Q) wd 3 1 :
45231126/1 nonguwh nwhwownk wongiwh wohwnwbphk Q7 npuid = #
45231126/2 nooguwh junnodwlwswnk wonigimh wohwwnwbphb 9z npwi * =
45231126/3 oongiwmb Junnnjwlwswnkph Ywon; nigiwh wowwnwhpikp Q2 npwy * i
45231126/4 nengUwh ungowlwswnpkph lpwonigiwi wolsunmiplikp Qz und o 1 -
45231126/5 nonguwh jungodwlwownbph ju g m\uh wriwnwbpbkp Q2 npuyd = 1 *
45231126/6 nonguwh njuhwswnk wh wohwwnwiphbp 92 gpud E 1 *
45231144/1 Ynjounm htwn Yuupfwd mzmu.lml.uﬂglil_m 9z npwy . 1 id
4523114472 njninnt hbw Qwyywd wyluwmwplitp Q2 iy 2 1 3
452311443 Ynjoinm hbwn jugywd wyjuw Q2 npul 5 1 "
45231187 vwjwhwwdmh b wudpw)wwywndwi wohnwbpbbp 92 npwy e 1 ¥
45231216 thonoguh hwhnyph wknwapowt G2 npwd 2 ¥
45261124 Lnlulingﬁiigh Jbpwlnpngiwl w)luwwnwplbp 9 npwy 7.423,210.0 7.423.2
45261124/1 wnwl Lpwinpngiwh wywwnwipib 9z npud 10,773,100.0 10,773.1
4526112472 mwl Gh bpwinpongdwl wyluwwnwipbh 9z npud 18,689,220.0 1 18,689.2
45261124/3 wwGhpltph Jbpwinpngdw wpluwnwGpitp Q. gpwy 2 1 e
452311271 whdplwepbph hbnwgiwd nywhwzwpbph Gwengdwi whwumwp b Q2 npud * 1 S
45231129 ok dwil hian juwdwd wrluwnwipGbn 9z npwd 9,314,570.0 1 9,314.6
45231129/1 bnnigiw( hbm L wyhuwnwipltn Q. npwi 7.488,530.0 1 7,488.5
45231129/2 punmgdwi btn jwwwe mz[gmmmﬁp[ihn Q2 npud 3,383,410.0 1 3,383.4
45231129/3 gtnmgiwi hbw & wph Q2 npwd 9,878,720.0 1 9,878.7
45231129/4 gbiomgiwb hbwn Y d wyh ﬁlm Qz npuyd 12,912,164.0 1 12,912.2
452311295 ph Jwl hbw jugwd wrluwnwiplibip 92 nuwyd 5,014,415.0 1 5,014.4
45231129/6 phomigiwi hbwn juwwwd wrfuwwnwipibp Q2 ppwd 6,336,769.0 1 6,336.8
45231129/7 ghionigdw G hiw | woh GpGhp Q2 gpuy 14,419,283.0 1 14,4193
45231129/7 glinnigdwl hiwn Ywwdwd woluwwwlplbp Q2 npuwd 24,292,730.0 1 24,292.7
45231129/8 phomgdwl htw Yuwdwa mz[l_nmnulﬁg(ihg Q2 wl 23,613,770.0 1 23,613.8
45231129/9 gtnmgiw( hbw | 7 Ghip Q. il i 1 =
45231129/10 ptinnigdw( hbwn hmll.]ltmb I.IJ: GpGitp Q2 npwy 2 1 *
45231129/11 ptiomgdwl htwn Ywwwd wyluwnwGplbp Qz npuyd " 1 :
45231131/1 g pupdwd ]unqnqu;l.]uj;_uaphph hiw 1 w Gbp Q2 npwi 2,687,970.0 1 2,688.0
4523113172 ? 4 zwpbph bbw llunqlhuﬂ wy plitp qz npud 6,931,370.0 1 6,931 4
4523113173 g jupwpiwl fuanogwlwywpbph b Ywwwd wpfuwnwGpibp G npud 11,101,310.0 1 11,1013
45231131/4 I funnoywlwzwpbph htwn Guwgdwd wpk pltp Q2 npwd 24,299,060.0 1 24,2991
45231131/5 opuw pupiwl funnoywlwswibph hbn Juygws walunwiply q7 npud 1,121,470.0 1 1,1215
45231131/6 9T Yuwpuy hunnowljwywpbph hbw | wzh Gkp Q2 npud . 1 *
45231131/7 9 wi f Jwzwpbph hbn I O wyp GiLp Q2 npud e 1 =
45231131/8 ? i I Juwwnbph btw Juwwgwd wel plip 92 npud * 1 *
45231131/9 ? wi fu Yuwzwpbph hbn Guuyywd wal plitp U gpud * 1 B
45231131/10 funnodwlwywpbph bbwn juujwd wyliwnwGpibp Qz gy N 1 &
45231131/11 9 fungnwywzwpbiph hbw quyjwd wyuwnwiplibp Q2 ol i 1 *
45231131/12 9 wphph hbw | wph it Q2 npud i 1 .
45231131/13 @ n wywnbph htw Y wyfu plbp Q2 gy 1 =
45231131/14 9 I Gwywpbph hn llwlqllu.la wph GpGhp 2 qpuy 2 1 *
45231131/15 tunnulhu{lmzmphph hbw Juwywd wph plkp Q2 npud i 1 X
45231131/16 9 ' piwl funnogwlw)wpbph bk | w plbp Q2 gpwd d 1 B
45231131/17 |9 b funnoywlu;wpbph bbw Ywuud ] P 9z ppwd 3 1 .
45231131/18 ppwd 4 funnnywlwrwnpbph hbn Yuwgwo w) plikp 9qz npud o] 1 E
45231131/19 g Ywzwpbiph hbn Y jwe wyh GpGbp q2 gpwd . 1 *
45231131/20 9 Yuwzwpbph bbwn Yuwuywd wyluwnwipltp Qz gpuyd ;] 1 2
4523113121 funnegwlwzwnpbph hbn Juiggwd wk pltp Gz npund * 1 .
45231131/22 9 | funnofwljuzwpbph hbw Juwwwsd wyuwnwGplsp Qz npwd ' 1 B
45231131723 | 9 YJwwpbph hbwn wsh GipGt Q) npud . 1 5
45231131/24 Ppw i upwpdwi onogwiwywpbph hbn uyjws mz}ummwﬁpﬁhp 9z npud N 1 2
45231131/25 | 9 w niwi Yuwpbph hbw Ywwydwd wyh qz ppud : 1 -
45231131/26 9] L funnadwiwywptiph hbn Yuuywd ug[umu:unﬁpﬁhp Q2 npud - 1 *
45231131727 ppwd L funnojwywywpbph hbw uuyfwd wyhwnwGpibp Q2 pud . 1 s
45231131/28 9| piwl funpodulwywpbph bt Guigwd w) plky G2 gy ] 1 .
45231131/29 T Ywpwpiwi fungogwlwywpbph hbw Guywd wyuwnwipGhp q2 gpwd * 1 .
45231131/30 ¢ G Qupwpbph hbw juwgwd wyh i Q2 gpud " 1 '
45231131/31 1 niwl junnojwlwywpbph hbim Juid w pllp Q. qpud ¥ 1 &
45231131/32 9 6 uonnjwijuywpbiph hbw yuwywo wy wunwlplbp P qpud - 1 *
45231131/33 ? ' pwl fusnojwlwzwpbph b juwywd wj Gbp Q2 gpuy £ 1 d
45231131/34 i [unnajwljwzwpbph hbn Yuygws wyh Lp 9z gpud & 1 J




4523113135

i unnogwlwrwptph b Yuupwd wyh Gp (i Q2 o * 1 -
45231131/36 P pu fuonnywhwzwpbph kb Gy, wzh Gpltp 9z ppud L 1
452111431 Jwpquiwi opbjwmbtph yb quwi L G wpf plitp Q2 gpwd 9.980,410.0 1 9,980.4
4521114372 dwpquijul opjbymGhph by 6L y wy tip Q2 npwd * 1 *
4521114373 Swpquijnt op;blwnGbph Ybpuwl quw k wfuwnwGplbp G2 gpuwd N 1 B
45231216 thanngwjh uhm Ph wbnwnpnd Q2 gpud * 1 X
45231177 Swbwywphbkph Jkpwbnpeqlul walnmnwbpbkp Q2 npuny 28,825,010.0 1 28,825.0
45231177/1 &wbmywphbkph Jkpwhnpoqiuh wlwnwhbphkp 74 npud 4 1 .
452311772 Swbwywpbbibph Jkpwinpogiul wphunwbpibp Q2 gpud * 1 -
4523117773 Swbwuyuwphbbph Jkpwinpoqiwh wphuwnwbplkp qz npud 1 3
Bupuinbnwdu bt wppwnubplkp ghmnigumb b pEbphph wy; Eibjupulwh
45311129/501 | wuippusdapniibbph whqunpiuh hufup 92 npud | 16,841,670.0 ! 163417
bdwnwjmpymbbbp
7135154071 ukpuipfjulwt (Epwbulnnoipimt dwownipmubkp Q2 npwyd 53,759.0 1 538
7135154072 wbbpjwiwl {Epubuiognpuk dwpw)nipniblitp Q) gpud 186,292.0 1 186.3
7135154073 nkpbhjulwh JEpwhuljngnmipjwh bunwjoipjnibkp Qx qpund 373,784.0 1 373.8
71351540/4 nkflpjulmh {kpuhuljngnipjwl dwow)n pnittp 92 gpus 148,464.0 1 1485
71351540/5 ukpbhywhwh JEpwbulannipmt dwownipymblkp Q2 gl 67,668.0 1 67.7
7135154076 ubhbhjwhwh (Epobulagmpub dwnuwnip;niGhEp 9z gpund 14,977.0 1 15.0
7135154077 wkpihjwljwh {Epubulano pjut dwownipniiEp Q2 gpud 288,385.0 1 288.4
7135154078 wbbhwhwl (Epubufannipjut Swnwjnip)nhbkp qz gpund 197 574.0 1 197.6
71351540/9 ukpbhjulwh (Epwhuljogn 1pjuwh Swnwo pn bk QL gpwy 138,627.0 1 138.6
71351540/10°  [wEpbhfwhut Epwhulnnoipmh Swnuwnipyntbitp q2 pwid 258,243.0 1 258.2
71351540/11  [ukpbfjwiwk [Epwhufjnnnipjuk Swnwjnipjnblibp N4 npud 100,288.0 1 100.3
71351540/12  [wkpbhjulwh JEpwhulnnnipymb dbwpw)nienibilitp Q. qpwid 485,854.0 1 4859
71351540713 [wkbhjuhub {bpuhbuljnnnip)wh Swownipmibhkp Q2 qpud 222,026.0 1 222.0
71351540/14 |[wEpbpjuhub Ybpwhulnnnipjwh Swow ot pyntkp Q2 gpwyd 215,462.0 1 2155
71351540/15  Jukpbpfujuwh Yépwhulngaipywl bwnw) ooty QL gpwy 336,833.0 1 336.8
71351540/16  [wEUpGulwk {kp whulnnnipywh dwewjnipiibEn 92 gpud 324,623.0 1 3246
71351540/17  |wEubphulut {bpwhuljnymipyub dwowjnipymbbkp Q2 npud 126,735.0 1 126.7
71351540/18 | wmEpbhmimh {bpwhuljngnipjut b nwjnipjnhhkp qz il 33,911.0 ¥ 339
71351540719 [wEubplwlwt YEpwhulnnnipjul wowjnipaibhiy 92 gpwil 472,275.0 1 472.3
71351540720 |whmbpyuhmh {Epwhulnnnipjwl bwownipmbikn Qz npwd 5,765.0 1 5.8
71351540721 ubpihjwwhb JEpubufnnnipmt dunwjnipjoibikp Qr gpunl 199,608.0 1 199.6
71351540/22  [wkpbhjulmh Ybpwhulnqnipjuh Swnwjnipynibbkp Y] npud 485,981.0 1 486.0
71351540/233  |wEpGpGmhuh Jkpwhufnynipwh SwnwnipmGthp 92 gl 22,430 1 22.4
7135154024 |wEpbpjwiuh Jkpwhulnyoip)wl bunw)nipymtEp Q) gt 5 1 *
71351540725 ukbhjmwh JEpwbufnnnipyat dwowynipymbbkp GQ.2 gpud 2 1 -
71351540726 ubhihjwlwl JEpubuljanmpat dunwjoipynhbEp Q2 qpmyd L 1 .
71351540727 Tnbpbhjulwh {Epwhuljannipyul dwnwjnipinibhEp q2 fpund 3 1 .
71351540728 [nEpifjwhwh YEpwhuljnnnipjwh dwownpynibbEp qr npuwy = 1 =
7135154029 [ubnUffuwlwh Jbpuhufognipjui dwpwjnipyo ik Q2 gpud * 1 z
71351540730 Tunkjbphuljwh JEpwhulannipymt dwnw)nipjniilkp Q2 npuwy . 1 B
713515407317 |wEbhjwhub Epuwhulnqoipyuh Swnunipnibltp q2 pwd 1 <
71351540737 [wEpipjuluh JEpwhuljngnipjuh SwownipynGhkp %) npwyd = 1 2
71351540/33  [unkpbpjulwh [Epwhuljngoipyuh dwow)nip)niibEp qr gpwd 1 =
7135154034 Twkubpiulwh (Epwhufnqnipiot bwownipynilitkp qz qpwy 1 -
71351540735 |nbubhjwlwh Ykpwhuljnnipjwh Swowmipnibbkn q2 pwyd ‘ 1 *
7135154036 [wkpbpquiwh Epwhuljnnnipul dwowjnipndiitp qr npuwy 2 1 '
71351540/37  [ukpbpjuiuk Ykpwhulnnapjul bunw)nipmbibn q2 gpwil 3 1 5
(OBIT1140/1 bEnpbwhw)hG hulogeipjwh bunwjaipoiuty Uu npmy 25,072.0 1 25.1
9B111140/2 hEnhbwhwihl hunnaipwh SwnwyoipniibEp Ul qpwyd 46,573.0 1 46.6
[98111140/3 hknhbwlhwhl hulonuput dwnw)joup)nibEp Ul npwd 16,917.0 1 16.9
9811114074 bEnhtiwlw)hb bulnnoipyut dwpwnipyaibilkp Ul npud 37,4420 1 374
9811114075 bEnhlwlhw)pl buljngopyul Swown tpyniiikp UL npuy 49,393.0 1 494
98111140/6 bEnplwlwpb hujnqoput dwow)nipnilkp Uu pud 27,7250 1 27.7
[OBT11140/7 blnpbwlju;pb huljpqoipjuk dwbwinipjnbbip Uu npwd 64,560.0 1 64.6
9BIT1140/8 hEghbwlhu b Bufanuipywi Suinwynpynibhkp Ul T 10,751.0 I 10.8
SBTT114079 bEnhlwlwihl bofannippwl Suswnpjatibty Uu ppud 144,125.0 £ 144.1
9811114010 [hEghbwhuhl huljnnnipjuh bwnw)m pynibbtp Uu npwyd 84,2080 1 842
98111140/11  |hEnhbwhmjRG hulonoip)wl SunwjnipmibtEn Ul qpuy 93,446.0 1 934
9BTT1T40/12 hEnhiwhwihl hulnnoippul Swowyn pyn Tk Uu ppud 37,116.0 1 37.1
[9B111140/13 hEnhbwlw G bulannipyat bdwowjnipynhiEp uu gpuyd 49,902.0 i 49.9
98111140/14  [hEnpbwluwfit huljngnipyub Swowjnipn Gty Ut npuyd 72,096.0 1 72.1
98I11140/15 [hEnpuwhufb bulnnm pymt Swownipynhiikp Uu gpud 55,506.0 1 55.5
98111140/16  Thtnpbwluypl hulanoipjwh SwnwympnibhEp Uu pund 121,463.0 1 1215
9BIT1140/17 hEnhbwlw;pl hbulnnmpwh dwnwjnipymblkp Ul npunf 53,865.0 1 53.9
9BITTI40/I8 [hEnhbwhuw)fl hulnnm pjmb Swnuynip nlbikp Uu gpuwy 99.717.0 1 99.7
[SBITTT40/19 bEnhbwlwhl bufnnnipjub burmwym pyodiiikp [i qpu 10,173.0 1 10.2
9811114020 |hEnhhwlwhh bulannipjwi Swow)nipym bbkp Ul gpwid 141,683 1 141.7
9811114021 ThEqpbwlwht Bafonoipwh Swownipmiblkp Uu npud 38,020 1 38.0
[SBTI1140722  |Eknplwhuph bhuljnnnipjul SwnwjnipniGukp i1 pwd 97,387 1 97.4
98111140723 ThEnpbwwihb bulannipywh Swownipnibikp Uu gpud * ] 3
98111140724  |BbqhUwhwpy huljngmpjul SwowmpEibtEp uu npud ¥ 1 :
9B111140/75  [hEnfwhwm)hl bulngnipjul dwnwjoipyntbEn Uu npud ¥ 1 #
9811114026 [hEqptwlunhb buhannipyul bwnwnipmbhEp Uu gpud . 1 3
[SBITTT40/27  |BEnhhmlupt buljnnnipjwh Swpw)nipaithEp Uu ppwd £ 1 :
SBITIT40/28  |hbnhbwlupt hufnnoipjwh dwnwnipmbli, Uu qpud i .
[(9BTT1140/29 btnpbuluyhl hohonagewh Swow)nipnibks Uu gpud = 1
8111140730 [hEnhbufw)hk buljngmipyul dwnwjnipyniikp Uu qpund - 1 4
|98I11140/31 BEghbwlw)hl Bufagoipjut SwowjnipymbbEp Uu g ¥ 1 CH




98111140732 [BEqhtwfuht huljnnoippuh dwewnipmtEn Ul npul = 1 .
98111140733 [BEqhbmbwhl huljonnipymb SwowjarpnibiEp Uu ppud . 1 .
98111140734 bEnpliwhu) Rt Fuljnnoip)wt Suowm tpjoiblikp vu gpul = 1 e
[9BTT1140/35 BEnpbwhwpl hufonaipwh SwowynipynblEp Uu npwd v 1 .
[9BTT1140/36 hEqhbwlwhb hulnnoipul Swowympmihkp Uu i . I g
98111140737 [hEqhbwlmph Buljngoipyul SwowympoGhEn Uu pwd . 1 .
9BIT1140/38  |BEnpbwhumyp bulnpnipjul Fwow)opmithEy Uu gpud 6,728 1 6.7
9B11TT40/35  |REnplwluph buljnqnipjul SwnwjapmGitp Uu pud 97,387 1 974
98111140/40  [bEnplhmGuhh huljonnipjwh Swnwnipynbit, Uu ppuil 38,020 1 38.0
98111140/41  [hEqhbmiufk buljanopywh bunmnipmitp Uu gpul 10,173 1 10.2
98111140/47 | hEqhbwhuhh buljunnipjwh Swowaipmbhtp [ npuwd 141,682 1 1417
98111140/43  [hEqhbuhwht Bulanoipyuh bwnuynipnbbEp Uu g ¥ 1 2
98T1T140/44  [BEnhlwhu;ht huljonnipjwlh SwownipynihEp Uu npwd v 1 .
[BT11140/45 hEnpbwlu bl hufenoipyut bwownip)niblp Ul npwd 1 <
S811T140/46 |REnhhwhuw)hh buhnnnipjuh dwewjnipmGhEp Ul npuwd ¥ 1 =
9B111140/47 BEnhhwhwht hulngmpyut dswowjnipymbikp [T npusd . 1 ‘
(98111140748 bEnpbwhuhb huloqoput Swowjnipniikp Uu ppwd . 1 H
98111140/49  ThEnhbwlupb bulnnoipjwh Swnw)nipalbiEp Uu npwd = 1 x
9BI11140/50  |hEqhlwluhl buljnnoipyub SumuynpoiiEn Ul npud ¥ 1 .
98111140551 |BEqRbwhuypb buljngopywh Sunimp)olihtn Ul qpud s 1 2
(98111140/52 bEnhbwlw)hl hunnoipmb dwowym pmibbkp Uu ppud 1 .
[GBT11140/53 hEnphwhwhl hufonoipjmt Swowynip)nihbEp Tu npud 2 1 X
98111140/54  |hEnhbwfuhh bufnnnipjwh Swpwnipnittbn Ulu npund 2 1 b
98111140/55  ThEnhbwhw il bujonaipmb dwowjnip ik Ul npuid . 1 2
98111140/56  [hbnhiwfujhb bulngoipywn dwow)nipym bk Ul npud < 1 2
98111140/57  [hEnplbwlwjhl bulngoipywt dwouynipymbbkp uu gpwd 4 1 5
[FBTT1140/58 BEnplwluwpb hulogoipmk SwownipyoGiby Uu ypud : 1 2
98111140/59  ThEqhbuwljw bl hulonnip)wh SwnwjuipniihEp Ul npwy * 1 .
98111140/60  hEnhbwluyht hulnnoippuh dwow)npynibiikp [l npwd £ 1 "
98I11140/61  [BEqhlwhwht buljngn tpjul dwowjnipioblkp vu gpwd . 1 .
71351540738 |wENGpjulwh huljoqnipjwl SunwjmpniGtp q2 i L 1 ¥
7135154039 Tuthbhlulwh huljogoipyut dwowynip)niihkp Q2 npwd = 1 N
71351540/40  |nERbhiuhub bulnnnipjul dwowjniem by Q2 npwid - 1 *
71351540/4T7  |wkjubpjulwh buljnnnipjul SwowynipnitEn qr g ¥ 1 -
71351540/42  TwEpLpjwhwih hujanoipywb swouynipyohbkp Y3 g * 1 s
71351540/43 " [wkubpiwlwh hulannipwt dwnwynpnUbEp Q2 o B 1 =
71351540/44  |mEpbpfuljwh huljngoipyuh Swnw)nipymbikp Q) g E 1 &
71351540/45 |wEjbhjwlwh buljnnnipjub bwnwyopym ik (Y] fpud ‘ 1 B
7135154046 [ubjubhjwyul huljanaipuh Swowjnipniilkp 92 npwd . 1 B
71351540/47  TukjbRfulwh huljonmput Sdwowjnipmbhtp Q. npwy 1 =
(71351540/48  |wk puhhwhwi bulnnoipwh bunwnip;oiGkp Q7 gpud 0 1 N
71351540/4 ubplhiwlulb bujognipub dwnwjnipyniiikp Q2 wd N 1 2
71351540/50  TwEpbpiwlub bulnqnipjut Swowjnipn bk [¥) npud 3 1 l
7135154051 Twkjubpjwhwh hulngaipmt dwownipynibitkp Q2 npwyd . 1 J
(71351540752 ubpubpwhwlh hulagnpjwh Swnwnip)niiiEy Q2 npwd * 1 N
7135154053 " TnkGRhmlwh hulnnoipwt Swow)nipynihiEp q2 i 0 1 *
7135154054 |wEubpmywh huljnqoipyul dw nwjnipjniibkp 9z gpud : 1 :
71351540555 Twbubpjwhwl hufjaqaigui Swow)nipym bk Q2 qpund % 1 =
7135154056 [wEkjubpjuiwl bujanoipymt dunw)nipjniblikp 92 fpwyd - 1 i
7135154057 [ukjubpjwlwh bulannipjut dwowjnipmbhEp [ npwd X 1 5
7135154058 [nbuURGwlub Bulogmipjun Swownipmibbbp Q7 npwd ' 1 x
71351540/59  |ubpbplulwh buljnnoipjwh dwowjnip)oilEp Q2 qpud ¥ 1 =
71351540/60  [wnEubphwhwb huljanmpjut swom jorpymiliibp [¥] gpuwd & 1 L
71351540761 [wkjUhfuhwh hulonoipjwt dwpw)nipom Uk qQz npud s 1 X




